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NOTE:

(i

(i)

There are two major sections in the Test Booklet Section A and Section B. Section A ‘comprises of Child
development and pedagogy — 30 questions, English Language - 30 questions and Punjabi Language — 30
questions. Section A is compulsory and all the sub-sections have to be attempted. There are 90 questions in
total in Section —-Ain which the Child development and pedagogy is bilingual. v

Section B comprises of Mathematics and Science — 60 questions and Social Studies/Social Science — 60
questions. In Section B out of the two sub-sections (Mathematics and Science and Social Studies/Social Science)
only one is to be attempted.The Section — B is bilingual (English followed by Punjabi).

SECTION - A

CHILD DEVELOPMENT AND PEDAGOGY (BILINGUAL) - 30 QUESTIONS (1-30)

A developmental perspective involves concern with changes occurring over time in:
{1) form (2) rate (3) sequence (4) all of these

faam ufsdy AT @ 578 &7 faw few Tud ufseaast 575 Adfaa &
(L)Y QWS (3) METH (4) QuIaz AY #

The thinking process involved in producing an idea or concept that is new, original and useful is termed
as: ‘
(1) creativity (2) innovation (3) intelligence (4) synectics

ﬁ,%m@@ﬁaﬁm#méﬂ?mmmmﬁq&[wﬁﬂmw&
(1)TGeTIHIIT (2)F=EIT (3)gat (4) Artdafean

The transmission of traits from parents to off-springs is called:
(1) environment (2) genes (3) heredity (4) homeostasis

Wit I afent 3 gt @ FET § wwe 35
(1) ufg=azs (2)¥tsa (3) feam=z (4) m-Afgat

Which of the following theories identifies four stages of child’s intellectual development (sensory-
motor, pre-operational, concrete operational & formal operational)?

(1) Erickson’s theory of Psycho-social development (2) Freud’s theory of Psycho-sexual development
(3) Jean Piaget’s theory of cognitive development (4) Kohlberg’s theory of moral development

mﬁémmwwmamwa(m-m,m—m,mm
w3 QueIa NEEA)

(1) Mfgams B HE-AHTAd feam e frafa (2) gafes v wa-féaa feam e fraa

(3) 7t fumma o Afapwrsravd feam e frais (4) @gwHdar = &fga feamw e fu'g

| Which of the following is NOT the benefit of integrating student-centred learning into the curriculum?

(1) strengthens student motivation (2) promotes peer communication
(3) builds student-teacher relationships (4) hinders discovery/active learning

hfemw—a‘h;afnfuw—tpuﬁﬁwwmﬁaxarfaaafmmﬁ‘%
(1) fefenmadmt €t mfsigs § WAgs JaeT I (2) IH-gIa ATEHF &7 FEE § TAEeT I
(3) fefonraat-mfmmua féa arfer ager § (4) &w/fepurs ffimr-yrust fee garee aeer &

Which one of theories of intelligence advocates the presence of general intelligence ‘g’ and specific
intelligence ‘s’? '

(1) Anarchic theory (2) Guilford’s theory of intellect

(3) Spearman’s two factor theory (4) Vernon’s hierarchical theory

ﬁawmmﬁ‘g’n@mﬁ‘s’aﬂ'@aﬂeﬁwmm
(1) meAaT fRata (2) fars@es ev gut & fAutg
(3) iR o &-aad! fAaus (4) Tavs w Sufsa fraa

Images, concepts, symbols & signs, language, muscle activities and brain functions are involved in:
(1) adaptation (2) motor development (3) problem solving (4) thinking process

m,m,mﬁm,w,mmm@ﬁamﬁmmmm
(1) HETBE (2) Yaa fea™m (3) AT &7 INTTS (4) f35 yfepr

Which of the following is NOT an element of learning event?
(1) learner (2) internal conditions (3) stimulus {4) teacher
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8 | fauar fafr—yruadt wesr e Fg 50 3
(1) fafumrget (2) mit3foq T3 (3) v (4) ifonus
9 | Which one of the foliowing theories view that behavior could be shaped through successive
approximation and reinforcement of responses more nearly approaching desired behavior?
(1) classical conditioning (2) instrumental conditioning
(3) operant conditioning (4) social learning
9 | fagd frats @t feo e 3 fa fewure § wigafim fsaear 73 fefes fawars @ wifs faae yfsfanret
€ fedlaes aat wrfemr A raer 3
(1) gt riggBE () sHa wigases ) Afpar mizggse (4) mirma fifer-yrush
10 | A process by which a parent assumes that his child’s traits are all positive because one trait is positive
is termed as:
(1) halo effect (2) hawthorne effect
(3) law of effect (4) reverse hallo effect
10 | g7 yfamr, mmmmms@mﬁweﬁwmmmmm
fear fedwa™ rrareava 3, § iy o5
(1) ufetw ygre (2) TEIS Y= (3) ufge ygre (4) feudts ygre
11 | Ramesh and Ankit have the same 1Q of 120. Ramesh is two years younger than Ankit. If Ankit is 12 years
old, then the mental age of Ramesh is:
{1) 9 years (2) 10 years (3) 12 years (4) 14 years
11 | gitw w3 wfag e 120 e s 10 31 aiE wfag 3 @ Ars dev N A fag N e 12 s 3, 3t et
&t wrsfra @ &
1)9® (2)107® (3)12 A% (4) 14 7%
12 | Which of the following is NOT an example of discrete variable?
(1) age (2) gender - (3) marital status {4) place of residence
12 | fgo=h feiw 9o <t @eroes aat i '
Lnew (2) fé&ar (3) feefox Afasht (4) fogrfert gt
13 | An appropriate form of assessing students’ performance in practicals is:
(1) interview (2) observation (3) questionnaire (4) written test
13 | yiiart few fefenradtnt @ yuens o yatae a9s o Qugag gu &
(1) feeafe@ - (2) fsdhye (3) yAsT=B (4) foust yaue
14 | The type of evaluation which is used to monitor learning progress during instruction is called as:
(1) diagnostic evaluation (2) formative evaluation
(3) placement evaluation (4) summative evaluation
14 | fafiprr S5 fifue & Yot § yales aos wet w9at atet yotas o fany § ww o
(1) fsefsa igiges (2) s iBias  (3) Aoss HBEE (4) ITBEING HBTaE
15 | Which one of the following is the better item of essay type of question?
(1) Discuss Newton’s laws of motion (2) Explain each of Newton’s three laws of motion
(3) What are Newton’s laws of motion? (4) Write note on Newton’s laws of motion
15 | fadg-gut yus <t dog9 We faoaft §
(1) fo@es @ ot 2 fomn Que gaurad  (2) fales @ art @ 3w fawnt fed odw & fennfinr a9
(3) fo@ex @ ot @ fam &t 957 (4) fa€es & arsht @ foumt €73 Se ot
16 | Special needs education is the type of education:
(1) given to very special people (2) given to persons with disabilities
(3) provided to intelligent people (4) established by colonial masters
16 | fedw (afomt) § fafimr @t 87 3, feo ftfipur O fagaht famr D
(1) mf3 feim Sat § fa'at Aet (2) fsgtiarsTet @8 fenmadimt § fe'at wiet
(3) §Us Bat & yers &t aret (4) FRIterel et @8 rrfug
17 | Which one of the following cues does NOT indicate visual problems in the children?
(1) difficulty in following direction (2) frowning
{3) stumbling (4) unable to estimate distance
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17

fagar fas gfont St st Tt mifrmret <5 fewmar 50t aeer
(1)fae*fese*mmfa€w (2) a6t s
(3) dFT UreET ' (4) T T HEH'S BINGT & MG

18

Children with speech impairment can be assisted by:

(1) encouraging them to express thoughts in the classroom
(2) helping him/her to pronounce correct sounds

(3) helping him/her to hear his/her spoken errors

(4) referral to specialist for complete evaluation

18

= @ fearg =8 vfowt &t fan Iyt Aorfegr Nt 77 AaEt @
(1) €5t & Iu™gH feu feua yare a95 B¢t @anas avar

(2) @7t & At gETat B Q995 feu RofeaT agsT

(3) @5t & mruStt IgE g e RurfesT gesT

(4) udt wig Bt feiar a5 TS

19

The gifted child:
(1) learns rapidly and easily (2) retains what he/she has heard or read without much rote drili
(3) reasons things out (4) attends to stimuli for a shorter period

19

yg'g g

(1) 37t 578 w3 Fdt 3gt fwer 3

(2) 7 g% @R & pfew 7t ufpr §ev 9, @nxmnémsﬁwwwa
(3) <t & Io F ugwer I

(4)aggm?mmt{aaaafuwaﬁef%|

20

Slow learners whose educational attainment falls below their natural abilities are labeled as:
(1) backward (2) gifted (3) juvenile delinquent (4) mentally retarded

20

ve frfurradt, wammwwqw@amgwa @5t & wrfinr AtET 3

(1)uysz J& (2)ygyu (3) famg-myarat (4) WafAg 39 3 mi<d T

21

When delivering an effective lecture in classroom, a teacher:
(1) establishes an eye contact (2) employs meaningful gestures
(3) stands stationary at lecture stand _ (4) varies pitch and tone

21

sy few ygreardt 3aus féer 3fenr, mfoaua-
(1) »iyt ov fusel AETfug JaeT 3 (2) maaYds Ha It & yHET e I
(3) B9 RES AonE Afag yder d (4) et F WS T8 & e afder 31

22

An example of media that transports learners to remote places by means of visualized reports is:
(1) educational television (2) educational broadcasts
(3) overhead projector {4) telephone

22

@w wefoony &t Geraes, WWgWW@WWWW?&W%
() frfprrava 2Bf<ws (2) fafanava yaas (3) frg-QuasT {Hee - (4) 2B

23

Communication with students means:
(1) asking them to do a task (2) exchange of ideas
(3) giving them directions {4) informing them of your idea

23

fefomradnt 575 AaTT ©" HIST I
(1) €5t & &1 995 BT MuET (2) fegg Teiear
(3) @t & faerfest et (4) My fegrat 3 @5 & AfES J95T

24

The first stage in the learning of a skill is:
(1) precision {2) manipulation (3) coordination (4) imitation

24

FEs 3T fines ot ufast wewer &
1)y Jufaggar (2) fe=gro-ans3T (3) TS (4) MBS

25

Which of the following is NOT an example of a concrete concept?

25

(1) ability (2) chair (3) force (4) motion
faosh ngs TrasT €t @evoes a1 3 '
(1) @ara3T (2) gamt : 3)9% (4) art
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26 | The reading technique that would be employed to locate terms and references in an index or thesaurus is:
(1) key-reading (2) re-reading (3) scanning {4) skimming

26 mam,mamWwW-mawﬁawmmmmmm,
n § W@ g
(1) mfg yaseues uga (2) y&g-ugg (3) PH-femdne _(4) AoWSt 3T

27 | Motivation begins with needs exists in all of us. The need, that the student would tend to fulfill first
pertains to: 7
(1) esteem (2) physiological (3) social (4) self actualization

27 mww?ggwamwmmmaumwgmﬂ?ww
a5t groer, G er T fan s 3
(1) ASH™S (2) Adta (3) M= (4) mrav-fRat

28 | For introducing a topic in classroom, what activity should a teacher do first?

‘| (1) explain the rationale (2) inform the objectives

(3) tell topic orally (4) write topic on chalkboard

28 m@ﬁwm%w,mémmmmma
(1) 3TT-7a9 &t fofanr gaar (2)Qent St guaT RSt
(3) guat few g9 ERaT (4) ra99s GuT femr fouer

29 | Which one of the following is an example of reinforcement?
(1) No Lata, the answer is not 45 (2) Kamla, can’t you help Keerti with her answer
(3) Oh no, as usual, you are wrong (4) Suniti, you have said rightly ‘

29 | gfedtaes &t @uwes fagst 3 , :
(1) &3 B3, €345 5 F (2) avsT, ot F 193t &t On € €39 few morfeaT st a9 Faat
(3) 33Y, ovmr iar, IAt I T T (4) 813, gt st ot faar &

30 | Self study habit can be developed in children by:
(1) citing examples of great people (2) giving lecture on self study
(3) giving your own example (4) making new literature available

30 dfent few me-nifeds et wreg faw g5t feafng J19t 77 raet 3
(1) HT's fomadtm &bt Qurast S & 2) AE-nfods Qua Bawa o &
3) MUt Geues e (4) 3=t rrfog Quessg qeer &
ENGLISH LANGUAGE - 30 QUESTIONS (31-60)
Read the passage carefully and answer the questions (Q. 31-37) that follow by choosing the best alternative:
What's the computer's mother tongue? Which language does the computer speak? Compuspeak. What is a
conglomeration of computer languages called? Computowers of Babe! Witticisms apart, we do need to
communicate with computers. When the Pentagon wanted a new computer language that could do most of
the routine jobs with ease, it made its scientists look at more than 150 different computer languages that
existed in the United States. After a few months of intensive testing of most of the available languages,
American scientists decided that none of them was suitable for the job. So the US Department of Defense
invented yet another language, making it about the 151st. It then went about searching for a name for the
language. That was not easy either. After going through more than 200 suggested names, the DoD didn't find
anything "precise enough". So, a new female name was picked and the newest computer language was called
ADA. lady Augusta Ada Lovelace could be considered the world's first computer programmer, the first
software specialist. She was Lord Byron's daughter and the chief inspiration for the world's first computer
engineer, the father of the computer, Charles Stanley Babbage. ADA, the language is quite tough, complex and
highly detailed piece of software and is being adopted to much of the western world's military and space
applications. ADA can work with multiple parameters at one time, is quick, efficient and precise. But the non-
military world does not exactly need ADA to carry on its business. There are about a dozen other more popular
language that fit the bill very well. Though almost all of them seem quite tough, complex and cumbersome to
work on and write with at first sight, they are not tougher than learning a new foreign language and seem
relatively simple once one has a hang of them. '

31 | After whom, according to the passage, was ADA named?

(1) Lord Byron - _(2) stanley Babbage (3) Augusta Lovelace (4) Pentagon
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32

Why did the Pentagon want a new computer language?
(1) to launch simple defense operations (2) to execute routine tasks
(3) to maintain their schedules (4) all of these

33

Why did the DoD find it difficult to choose a name for their new computer language?
(1) no name seemed precise

(2) every name had been already used

(3) they did not have any repository of the available names

(4) they were unable to get approval of the president for the chosen names

34 | Why have European militaries adopted ADA? .
(1) is easy and simple to use (3) they are under agreement with the US
(3) can work on many parameters ata time (4) allof these '
35 | Why does the civilian world not need ADA?
(1) other languages are relatively simple (2) other languages are economical
(3) other languages are less complex (4) all of these
36 | Identify the word closest in meaning to the word: "PRECISE"
(1) defined (2) permissive (3) mild (4) diffused
37 | identify the word opposite in meaning to the word: "CUMBERSOME"
(1) awkward (2) bulky (3) manageable (4) unwieldy

Read the passage carefully and answer the questions (Q. 38-45) that follow by choosing the best
alternative:

What is the future which awaits our children? The underlying assumption of the question that indian children
have a common future is itself dubious. it can legitimately be asked whether a student who is well fed,
attending a boarding school in the salubrious climate of the hills, and learning to use computers has any future
in common with a malnourished child who goes to a school with no blackboards, if indeed he does go to
school. The latter may have no worthwhile future at all. And it might be worthwhile to analyze the significance
of this marginalization of more than seventy five percent of the children of this country. The failure to provide
an infrastructure for primary education in the villages of India more than 60 years after independence is in
sharp contrast with the sophisticated institutions, for technical institutes of higher education are funded by the
government, which essentially means that the money to support them comes from taxes. And since indirect
taxation forms a substantial part of the taxes collected by the government, the financial burden is borne by all
the people. L.K.Jha put it graphically when he observed that 25 paise of every rupee spent on educating an liT
student comes from the pockets of men and women whose children may never enter a proper classroom.

38 | The author is trying to highlight which of the following:
(1) the greatness of LK Jha (2) need to have common future for Indian children
(3) need of sophisticated education for rural poor (4) faulty system of direct taxes
39 | What seems to be likely answer of the author to the question posed by him in the first sentence of the
passage?
1. there is no common future for the Indian children
I1. the future is worthwhile for majority of Indian children
lll. the majority may never enter a proper classroom
(1) only | (2) only Il (3) only il (4) bothland Il
40 | Which of the following pairs have been termed as 'sharp contrast' by the author?

. Infrastructure for technical education

II. Lack of infrastructure for rural primary schools

lil. Twenty five paisa of every rupee ea rned by government is spent on education

IV. the financial burden of higher technical education is borne by all people ,

(1)land IV (2) lland 1l (3) itand IV (4)1and il

41

According to the author, who among the following does not have a hopeful and a prosperous future
I. All students from technical institutes

Ii. All students financially supported by the government

(1) onlyl (2) only i (3) bothlandll (4) Neither I nor |l

42

Which of the following statements is not true?

I. The author welcomes Govt's initiative on primary education

il. 75% of the children have a bright future

Iil. 25% cost of educating a technocrat comes from poor people

(1) onlyl {(2) onlyll {3) only Ill (4) oniy i and Il
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43 | identify the word closest in meaning to the word: "DUBIOUS".

(1) unarguable : (2) uncertain (3) undoubted (4) undeniable
44 | Identify the word opposite in meaning to the word: "SOPHISTICATED".

(1) complicated (2) stylish (3) difficult (4) facile
45 | What is the major concern reflected in the passage?

(1) the gap between different sections in Indian society is increasing

(2) Indian children do not enjoy common future

(3) both (1) and (2)

(4) only (2)
46 | Language acquisition occurs only when

(1) the child is taught the rules of grammar

{2) the child is given a reward

(3) the child has exposure to the language

{4) the child absorbs the language without conscious attention
47 | Correct pronunciation of individual sounds is related to

(1) Accuracy (2) fluency (3) both accuracy and fluency  (4) neither accuracy nor fluency
48 | For teaching grammar, the best grammar that a teacher can use is

- {1) traditional grammar (2) modern grammar (3) pedagogic grammar  (4) no grammar is needed

49 | Organization of arguments and ideas in paragraphs is an important aspect of

(1)writing essays (2) writing memos (3) writing stories (4) writing personal letters
50 | When a child is asked to recite a poem, it can help the teacher to test

(1) knowledge of literature (2) proficiency in speaking

(3) acting talent (4) comprehension
51 | One of the principles of materials preparation for language learning is that

(1) complex materials should be chosen (2) grading of materials should be done

(3) any kind of material can be chosen (4) a small amount of material should be introduced
52 | The structure ‘He goes to school’ is often produced by learners due to ’

(1) failure of intelligence (2) mother tongue interference

(3) overgeneralization of rules (4) wrong teaching
53 | A test of listening comprehension is a test of

(1) receptive skill (2) productive skill (3) hearing ability {4) phonology
54 | Mother-tongue influence can be effectively minimised in the classroom by

(1) using the mother-tongue more often

(2) giving examples from the mother tongue

(3) giving a lot of exposure in the target language 7

(4) giving inputs from the target language in a simple, graded manner
55 | A test which is administered at the end of a language course is

(1) diagnostic test (2) placement test (3) achievement test (4) memory test
56 | ‘Interactive’ listening is

(1) listening and responding (2) listening for mood and tone

(3) listening for word stress and emphasis (4) listening for finding out speaker’s attitude
57 | Which of the following is an incorrect assumption in language teaching

(1) learners acquire language by trying to use it in real situations

(2) learners’ first language plays an important role in learning

(3) language teaching should have a focus in communicative activities

(4) language teaching should give importance to writing rather than speech
58 | Reading skills can be developed best by

(1) writing answers to questions on the text (2) focusing on the use of words from context in the text

(3) doing vocabulary exercises (4) doing quizzes and playing word games
59 | ‘Brainstorming’ means

(1) to collect all kinds of ideas on a topic (2) to do some mental exercises

| (3) to make efforts to understand something (4) to give some kind of stimulus to the brain

60 | Practice of grammatical structures in a controlled manner can be done by

(1) correcting wrong sentences produced by learners  (2) gap-filling grammar exercises
(3) writing paragraphs and essays (4) explaining the use of particular structures
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PUNJABI LANGUAGE — 30 QUESTIONS (61 - 90)

3> fad 4 § ug & €39 feb: (Q.61-68)

‘"éﬁneﬁm@mﬂaﬁﬁémﬁmmﬁ?ah%ﬁnégﬁwmmwmuﬁw
fF Rt wiat O faaz F9sT W3 ¥ sa=T Hiws o QOF W, §F g gfvrt &t st €3 useT, G5t T
®g gHST 3 99 Afen-awies €ar &% U aurgET a9 fenarst e g g famr 3, few et vivid TS feg
fanma’rzr?feaﬁwa*aa*af&;mw—aﬂé‘rmafWahmmamwww
F9-5F AeTI ‘I BI-RYTt widr famerarat § f&ed w3 famerag § wet ui-ut e 5, ug Ggmu@ My §
famerardt &dt Wae; MU T8 TS § MUST 7S € anret - formar & I ©Fe 5| faw uw : faarg
Hra@a+,@wm%ﬁw,w,m—m,mﬁhﬁﬁméwmémm

It 72T wdt| for Bt Sdur, wdtwt I STt St B3 I faEerardtat § ynow Y q 79 Y T H BB
Ater J fa @uat 7g-Us Ha 81|
1 61 | nrelt gatut faw faosht &t yors 37
(1) UAr yggeT (2) gfert w y& g & I\ g (3) 8HS (4) Ba-feurer
62 | yzy UR aWr@er-aw@er fad udw fomrr 37
(1) s '3 ‘) asE fee
(3) TRt e (@) O <t gatt feg aps famr 3
63 | yfgst wgy wr Q2w &t Hi?

(1) fea® afger (2) 9gEF a5 ' Ifger (3)€#We’rfaaam (4) gaH gBQET

Aewt '3 9g & fameroa § de f&eer &7 ,

(1) W™ A&3T (2) fameardt M3 eSS (3) =3 (4) AgaTg
65 | fgmerardt mruet anret a9t AW I

(1) Ta-HT & et (2) mas-ferrar €t gas

(3) ¥&-yrtd € FHret ‘ (4) UGHTIHT T TIES
66 | ‘mfda2 vr 3=’ Is fafrr *F &t &

(1) Ho=ar Q)TaH (3) ferme 4)myE
67 | ‘fzara’ er &t »iag 7 :

(1) Wyt (2) femet (3) 569 (4) fam
68 | U v gaet fedy at & raer 37 ,

(1) FEHTSY (2) §& §BET (3) Far-st (4) fameaa

5 fod U & uz & yast @ €39 o6 (Q. 69-75)
»s T feg mfgeam™r, g gabdt @fs€ eneg a9
a3 feT Faets e, 3 feww 3 seda &
»a sy € f&g »i & fidt 39| eR3HT 99!
I A TH TI T, sRII A TBT FI T
Soag & B9, fea &, STag sI aBsH §
fow o foaar 84 o< U9 | ORH3 a4 !
w2 fg fder widsint, M@ fa Hat RRSHT
€% gAs & ==Afag, §F gaa @ TeAe®
v vy feRd § AS U9 | eHSHT 99

69 | few afear &' at gaar fe3 fopur 37
(1) ferrserdt wr (2) " €T (3) A9 ¥8E €7 (4) eF fug e

70 | gzt wfenrt § faw wives €3 ewans a9s e fagr farr 37
(1)5=II & () WISt & 3)ymiz e (4)fawesge®

71 | ‘gmy @ fe's »ia @ fpndt 93° arfe Qadht ot fdat & »nia € fimrmdt 995 ¢t faar fomr 37
(M 8T+ § ) TAsidtETst § (3) Bwat § (4) S I8t §

72 | faw 9w § S9a9 adt Bt erdiEt?

()fesrmIasng ()SHE @) Bat§ (4) 3=t &

P-1 Test Booklet code- A ) . Page 8 of 24




73 | ‘mifges™e e ot viaw 37
(1) e (2) yf3famr-y3a (3) Iustg (4) MH&
4 | ‘ggw Fa@tTed
(1)ew (2) IHST (3) 8w (4) Bug
75 | ‘gedle er &t »ew A7
(1) 735 (2) 3a€td (3) femar (4) es
76 | Jmret fevivst 575 fdatit sart sarett aa7
(1)8 (2)5 (3)3 (4) 10
77 | dwret few qe 05 - :
e 2)f3s (3)9@ @)=
78 | 3= fodt gaet f°F fagaT mvaToea ReT 50T D
(1) € (2) ABTWYT (3) f&fenr (4) yAAT
79 | 3= fot Irat fed fagsr Az 3
(1) fort & U= & B T (2)mrt g Wie gt
(3) It A9 ATS T/ (4) Tt & 398 T &5
80 | faua =va fe'e fenfua &% <t ota w3 et &7
WHTIFTIfapr T F1eBIfaer )T BT oo )T F ¥ F famum
81 | vt 3T & AeHeTSt IvET fagust A7
(1) s (2) efea fmfaz (3) faet (4) grarit
82 | {mreft I § foue et faoat fout giaet 3
(1) \raydt (2) & (3) S=aTarEt 4) Jandt
83 | graa f&& yas @ g2 g&7
(1) (2)Ag 3) 0w 4) 3=
84 | gy’ g st o fami &
()Y &< ’ (2) ™ i (3) feaseraa aiw (4) FeTHd i<
85 | Afimrerga feiwes dbwt famit Jehot 0
(1)|g9 2)uw 3)& (A3 .
86 | 33 @ mrare 3 Wium Tt famit et T
(1) feg )€ 3w 4) 3=
87 | guft, Har, AreT muw 35 fefint fed* &t s
(1) ugste (2) fafomr (3)s'= (4) feimE
88 | 35 fafiut fe'§ felne faad aa? :
(1) e, snitm (2) ¥4I, aTHT 3) €9, few (4) Hfdeq, Afdes
89 | ‘ggTat gue o feddt nue g
(1) & Q) mEs (3)89 (4)ART
0 | peeta goTes ¥ Tva fev Avean fafonr faost O
(1T (2) AgEFI (3) Fored (4) Fet <t st
SECTION-B
MATHEMATICS AND SCIENCE (BILINGUAL) — 60 QUESTIONS (91-150)
91 | Set of rational numbers is a subset of
(1) natural number (2) integers (3) real numbers (4) an irrational number
91 | yfelry Afynr e R fai o femr &
(1) U& Ya&5 W (2) Y35 7 (3) TR3feT Aftour (4) nrufarm Afenr
92 |(Z-ejs

(1) a positive rational number

(3) an irrational number

(2) a negative rational number
{4) both rational as well as irrational
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92 | T—eF
(1) TBTIH ufsrmr Afeomr (2) fazrava ufarmr Afprr
(3) mufarod Afepyr (4) &= ufaipr w3 mufaren Afeur
93 24~ .
If 24x is a multiple of 9, where * is a digit, then what is the value of X ?
(1) 6 (2)3 (3)9 (4)4
B g 24x o urgres 3, fad X fexr wa 3, 3t Yer YT ot §2ar
(1)6 (2)3 (3)9 (4)4
% [ G0+ ~
if V¥ Dly+2)=17 , * and Y being positive whole numbers, then the values of * and Y are
(1)8,5 (2) 15,12 (3) 22, 19 {(4) none of these
94 _ —
a Vu-DW+2)=7 x 53 Y garavm yos wa 95 3t 93 @ WE T
(1)8,5 (2) 15,12 (3)22,19 (4) fegt fog" a1 &t &t
% ‘/5 + ‘/g’ ‘/5 + ‘/g’ ‘/g’ ‘/ﬁ - ‘/5 are four numbers. When written in ascending order, these are
1) VB VBT3B 4l5 () V2446, 3445 VIT-V3, B
% | J3+45, V2446, V8, V1143 ra Wi 951 A fegt § oge q few fafor Aier 3, 3t fev
J&:
96 The missing number in the sequence 1,2,3,6,% 20,37, 68 is
(1) 6 (2)9 (3)10 (4) 11
96 | 1,2, 3,6,* 20,37, 68 &t ==t fae arfew :
(1)6 2)9 (3)10 (4)11
57 | Let ™ and " are whole numbers. If m” =121 the value of n" is
(1) 512 (2) 1024 (3) 2048 (4) 4096
7 | ss€ M3 " ysmwagsia m =121 gt n” erymd:
(1)512 (2) 1024 (3) 2048 (4) 4096
% 14 35
The product of two fractions is 15 and their quotient is 24 The greater fraction is
4 7 7 7
(1) 3 (2) 6 (3) 4 (4) 3
%8 iz 35
& fdst ov geaes 15 In fegt erorar-vs 24 &1 T fes
4 7 7 7
1) 3 (2) 6 (3 4 (4) 3
99 | 1he value of ¥0-01++v0.81++1.21++/0.0009
(1) 2.03 (2) 2.1 (3)2.11 (4) 2.13
99 | J0.01++/0.81+1.21++/0.0009 gr o5 3
(1)2.03 (2)21 (3)2.11 (4)2.13
100 | The cube root of 0.000216 s
(1) .6 {(2) .06 (3) .006 (4) none of
these
100 | 0.000216ar wE-ys ¥
(1) .6 (2) .06 (3) .006 (4) fegt fe¥ a&t & aat
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101 | If selling price is doubled, the profit triples. Then the profit percent is
66—2- 105l
(1) 3 (2) 100 3 3 (4) 120
101 | & fe'adt ahia garet ae fe'st Atet 3 3t yamer fager § ater 13t yord e yfaea
66= 1051
1) 3 (2) 100 3 3 (4) 120
102 | A shopkeeper sold an article offering a discount of 5 % and earned a profit of 23.5%. What would have
been the percentage of profit earned if no discount was offered?
(1) 24.5 (2) 28.5 (3) 30 (4) 35
102 | feq garaerd 3 fea TAg 5% @ T2 & Uwaw 3 6 w3 23.5% Ya@T el F Tt @2 & foh
wtel, 3t @ e yaR & Yfargsr &t et
(1) 24.5 (2) 28.5 (3)30 (4) 35
103 | The difference between compound interest and simple interest on an amount of Rs. 15, 000 for 2 years
is Rs. 96. What is the rate of interest per annum?
(1) 8 {2) 10 (3)12 (4) 14
103 | 15, 000 gu® € 3onr 3 2 Arwst BE VFEfEt femw w3 AraTTs fae vTT 96 g I yfT waw feww
eIt
(1)8 (2)10 (3)12 (4)14
104 | A sum of money is borrowed and paid back in two annual installments of Rs. 882 each along with 5%
compound interest. The sum borrowed was
(1) Rs. 1620 (2) Rs. 1640 (3) Rs. 1680 (4) Rs. 1700
104 | gw I €ug B2 AN T5 M 882/- FUT Tt & ArETeT faEat few, 99d fAE3 578 S« Tadfedt
Afg3, Tun a9 f&'3 A1 a1 §ure =et gav &=t At
(1) 1620/- gu¥ (2) 1640/~ gue (3) 1680/- gu® (4) 1700/~ gue
105 The polynomial f (x) has a double root -1, single roots 1 and 0. Then f (x) is
(1) (x—l)2 (x+1) 2) x(x—-l)2 (x+1) 3) x(x+l)2 (x—l) (4) x? (x+1)(x—1)2
105 | forgr mguer f(x)wéaa*y'a-géasya—n@oaa@‘ £(x) . /
(1) (x—1)? (x+1) 2) x(x-1) (x+1) 3) x(x+1)2(x—1) 4) x’ (x+1)(x—1)2
106 If (a +b)3 =a3 +b3,then -
(1) ab>0 (2) ab<0 3)2=0o6=0,a=-b (4) none of these
106 | 5 (@+b) =a’+b° 4
(1) ab >0 (2)ab<0 3905 6=0gra=-p (4) fegt fed ¢t @ =t
107 Two numbers are in the ratio 3:5 . If 9 is subtracted from each, the new numbers are in the
ratio 12 :23. Then smaller number is
(1) 27 (2)33 (3) 49 (4) 55
107 | & ffwnr 3:5 @ wigu3 few 961 7 I3 few 9 wer fo'sr wter 3, 3t satut A 12:23 @ U
few 951 &2 A 3
(1) 27 (2)33 (3) 49 (4) 55
108 Seats for Mathematics, Physics and Biology in a school are in the ratio 5:7:8 . There is a proposal to
increase these seats by 40%, 50% and 75% respectively, what will be the new ratio?
(1) 2:3:4 2 6:7:8 (3) 6:8:9 {4) none of these
108 | fexr ng® few aifea-fefamns, Ffaa fefamirs w3 File-fefamrs it et 5:7:8 @ wigurs few oa|
fegt St et ieTa 40%, 50% #T 75% TT QT v yIT 1 T wgwS &t F2ar)
(1) 2:3:4 (2) 6:7:8 (3) 6:8:9 (4) fegT fes® aet & &t
109 | Number of vertices and edges in a cuboids are
(1)6,6 (2)6,12 (3)8,12 (4)6,8
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109 | gaa feg et fagout w3 dat Tt Afpnr 755
(1)6,6 (2) 6,12 (3)8,12 (4)6,8

110 inadABC ZA= xa, £B=(3x-2) and €= y AlsoZC —ZB =9’ Then the value of ZB is
(1) 73 () 82 (3) 25° (4) 49°

110

fear AABCtqq, 4A=x°.43=(3x“2)0 w3 £C=Y LC-ZB=9@ i3t fas LB wrym
&

(1) 73° () 82" (3) 25° (4) 49°
111 | i four sides of a quadrilateral ABCD are tangential to a circle, then
(1) AC+AD=BD+CD (2) AB+CD=BC+AD (-3) AB+CD=AC+BC (4) AC+AD=BC+DB
111 | f ggegH ABCD @t v garet feg €@ Auedt 95, It
(1) AC+AD=BD+CD (2) AB+CD=BC+AD (3) AB+CD=AC+BC (4) AC+AD=BC+DB
112 | If a cone and a sphere have equal radii and have equal volumes, then the ratio between the height of
the cone and the diameter of the sphere is
(1)1:1 (2)1:2 (3)2:1 (4)3:2
112 | 3 feq &5 w3 §i8 @ s fenmrag W3 s wifeds 98, 3t &5 &t §urdt w3 &8 @ fewm feu
weus &
(1)1:1 (2)1:2 3)2:1 (4)3:2
113 | The perimeter of a circle is equal to the perimeter of a square. Then their area are in the ratio (use
22 :
7[ —-_——
7)
(1) 4:1 (2)11:7 (3)14: 11 (4) 22: 7
113 v 22
a fez e ufawry, Taar @ ufewry @ soree 3, 3¢ fegt @ dawes fanmguafesas( 7 =
yetar 73) ,
(1)4:1 (2)11:7 (3)14: 11 (4) 22: 7
114 | The mean of the distribution in which observations are 1, 2, 3, ---n is
n(n+ 2) (n+ 1)
(1) 2 @ 2 3) n(n+2) 4) n(n+1)
114 | &zt olng, AR fee ue 1,2,3,-n 35,6899
n (n + 2) (n + 1)
(1) 2 2) 2 3) n(n+ 2) 4) n(n+1)
115 N_¢
1+ 2 Xi
To find the median of the continuous series, we use the formula: Median= f , here C denotes
the

(1) cumulative frequency of the median class

(2) frequency of the median class

(3) cumulative frequency of the class preceding the median class
(4) frequency of the class preceding the median class

115

¥_c

1+-2 Xi
iz st v ighns waw ga5 B8, wit ishis f @ ga9 o yhar aee atifed Cer
H3BY &

(1) Mgt a2t €t fifeg arfeat (2) Wiz &<t &t nrfest

(3) izt &2t 3 yagmt &2t <t Afeg wrfesh (4) Mizwa 83 F yauz) §& & it
116 | The nature of mathematics understanding is

(1) difficult (2) simple (3) logical (4) ornamental
116 | aifzg-fefomrs @ &u €t yfaest 3: :

(1) yefas (2) AaS (3) Safaa (4) A=t
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The most effective teaching aid in mathematics is

(1) audio aid (2) visual aid (3) chalk and talk method {4) none of these
117 | arfeg few wfa yareaat mifonmys o 3
(1) nirfsG = (2) fegis S5 (3) 99 M3 T9gT feut (4) fegt feg* §et @ =0t
118 | Which of the following factors is the most important in planning class-room learning activities?
(1) motivation (2) discipline (3) lesson outlines (4} audio-visual aids
118 mm-mmammmmmm&
(1) »feies (2) MgEHS (3) U &t gu-Jyr (4) »rf36-fegrrm Sva
119 | Evaluation of the subjects should be based on . ’
(1) annual external tests (2) both internal and external tests
(3) internal test (4) none of these
119 | fefimrt o yetare fam Que d= wrdter 3
(1) rsTST godt udys (2) 8= wir3faa W3 godt ydu=
(3) miigfaa udtuz (4) fegt fog &6t & sat
120 | The main aims of questioning in the classrooms are
(1) to create interest and curiosity {2) to motivate the students
(3) to test the previous knowledge (4) all of the above
120 | zmgt few yus y'e= v yr @3F 3
(1) fezemit w3 @anaar e agsT (2) fefernraetut & Ufag aasr
(3) y9u® farrTs & yay gaaT (4) Qudag gt
121 | Which of the following bacteria is found in Ganga water?
(1) Coliform bacteria (2) Streptococcus bacteria
(3) Staphylococcus bacteria (4) Diplococcus bacteria
121 | 35 fefmt feS* faoe fere drar @ yrat feg fiser -
(1) Coliform HI=R'E  (2) Streptococcus FﬁElé‘k (3) Staphylococcus Fﬂi‘EL (4) Diplodocus e
122 | The presence of starch in raw food can be tested with
(1) Dil. lodine solution (2) Dil. HCI solution (3) Dil. NaOH solution (4) All of these
122 a‘%nmhvmaﬁaaaﬁamfanmah?wm&
() Dil. nfeGsls Wis  (2) Dil. HCl W= (3) Dil. NaOH W% 4) Gu3az my gt
123 | How many times a solution of PH =3 be diluted to get a solution of pH=6?
(1) 2 (2) 10 (3) 100 (4) 1000
123 PH = 6 BT W% YTy q95 B¥t pH = 3 e s § fdst 9 ygsT a9ar F3am
(1) 2 ‘ (2) 10 (3) 200 (4) 1000
124 | The acid present in the ant sting is
(1) Ethanoic acid (2) Methanoic acid '(3) Citric acid -(4) Tarteric acid
124 | offsft @ dar few e w3
(1) Swdnfea Afag  (2) iwrdnnfea Rifirs (3) fafea wifis (4) Tvaefaq Az
125 | Which of the following is a sulfide ore?
{1) Bauxite (2) Haematite {(3) Cuprite (4) lron pyrites
125 | 3= fafint fed* faaat meerets org
(1) damrete (2) IMrerdte (3) faGueretz (4) v yfeweten
126 | Which of the following does not conduct electricity?
(1) Fused Naci (2) Solid Nacl (3) Brine solution (4) copper
126 | 5 fafipnt fad faaar famst e wrow aat 3
(1) fe@a® NaCl (2) 87 NaCl (3) ¥t uim (4) 3tar
127 | In moving from outer most shell to inner most shell, the energy of shells
(1) increases {2) Decreases (3) remains same (4) Cannot be predicted
127 nz@'ama&isé‘né‘ﬂ‘aa@ﬂsaamhvi#e??am
(1) =uet & (2) west & (3) AT afdet § (4) ISy w2t &t st AT et
128 | An element X shows a valency of 3 and 5. The formula of its sulphides in the two states are respectively
(1) XS ,XS;3 (2) XS3, XSs (3) X3S, XsS (4) X3S3, XS5
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128| xgg3m3 5« mwauewmmemwmwa
(1) XS ,X5; (2) XS3, XSs (3) XaS, XsS (4) X253, X255
129 | Metal which is a constituent of Haemoglobin?
(1) Cu (2) Al (3)Zn (4) Fe
129 | grg, frosh derdfas e war &
(1) Cu (2) Al (3)Zn (4) Fe
130 | Which of the following is used for making insulation of electric wires?
(1) bakelite (2) isoprene (3) neoprene (4) Thiokol
130 WWmeﬁw%m%Wﬁmaaﬁﬁw&
(1) ga8Ele (2) mrfermils (3) s1fis (4)afeGads
131 | The evaporation of water takes place from the leaves of the plants. The process is called
(1) Evaporation (2) Transpiration (3) Dehumidification  (4) Fumigation
131 | (ot @ ufamt 3 safiaes Jer 31 fem yfan § »rue I3
(1) TS (2) @HY A9 (3) fe-aitaas (4) rieas
132 | if the energy available to the plants from the sun is 20,000J. What would be the energy available to the
lion in the food chain, Plant->» Dear-> Lion
(1) 20 : (2) 200J (3) 2000J (4) 20000}
132 | & gew 3 Ufent § Queea o 20,0000 3 gt mrara-s=h feu 29 § Quawy Qe faat dt:
Jer->faes-H8e
(1) 20J (2) 200) (3) 2000J (4) 20000J
133 | Copper obtained from copper pyrite is called blister copper. Gas responsible for the formation of
blister is .
(1) CO, (2) CO (3) NO, (4) SO,
133 muﬁwﬂzé‘maﬁ(m)immm@mlma@@zwﬁmﬁwaﬁ&
(1) CO; (2)co (3) NO; (4) SOz
134 | Arrange methane, ethane, propane and butane in order of increasing boiling points
(1) butane<propane<ethane<methane (2) ethane< methane< propane< butane
(3) methane<ethane< propane< butane (4) methane>ethane< propane< butane
134 | = o3 Quaz—iat @ a few Wias, s, Tis w3 fagls § seaia fe€
(1)f8§€3<f[ﬁ?>‘<éﬁ?§<)ﬂ€?>‘ 2)Es < 98E < {Us <fages
(3) s < s < QUs <983 (4 i1E® > s < Jus < 883
135 | An atom of calcium has a mass of 6.64X 102g. The number of calcium atom present in 10g of calcium is
(1) 1.5 x 10 (2)1.5x10% (3) 6.023 X 102 (4) 2.4 x10**
135 | AoHt @ YIHTE TF WS 6.64X 107g 31 1ogmmmemwafa@az
(1) 1.5 X 10” (2)1.5x107 (3) 6.023 X 102 (4) 2.4 x10%*
136 | A metal X is low in the reactivity series X can be obtained from its compounds by
(1) reduction by heating (2) heating with reducing agent
(3) electrolytic reduction (4) None of these
136 W@hﬂﬁxmélfw@m?xﬁmwmwwm&
(1) IS T8 BYWIAIS (2) BwETdt BHE 38 IUS
(3) feBagfafed BWaIs (4) Qudas feg §&t S &
137 | The process of separating suspended impurities from water is known as
(1) Loading (2) Unloading (3) Distillation (4) Demineralisation
137 |y fad* Secut Mttt § @ 95 € yfqor § e Js:
(1) 8fdar (2) maBfsar (3) FHeE (4) faa—uferiaas
138 | Which two of the following compounds belong to the same homologous series?
(1) C;He0; and C,HO {(2) CsHg0, and CH,O (3) C:HeO and CH,O (4) C;Hs0 and CoHe
138 | 35 fofunt fed faoa € dfo s ATt B3t 578 ifas Js:
(1) GHeO, M3 GHeO  (2) CeHe02M3 CHaO  (3) GHeO M3 CH,0 (4) C;HgO M3 CHg
139 | A cart of mass 500Kg is pulled by a horse and acceleration produced in it is 4m\sec’ . The force exerted

by the horse is
(1) 2000 N (2) 2000kgwt (3) 2000 dynes (4) None of these
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139 smxgq%wxéfeaéétlﬂsffﬁw&»@fewﬁ?mam—mm\sec’ W3 T8 sorfenr
-1
(1) 2000 N (2) 2000kgwt (3) 2000 dynes (4) QU3 feu* a8t & st

140 | A body of mass 2kg is thrown up vertically with a kinetic energy of 490J. The height at which the kinetic
energy of the body becomes half of the initial value is (g=9.8m\s?)
(1) 10m (2) 12.5m (3) 25m (4) 50m

140 | 2kg Tows wr fex firw ao0) afsw Qear 578 Que < §femr ater 3 | A Quret @3 fiow ot afaw
G aréea y'e Fuidt afo At 3, @0 - (8=9.8m\s?)
(1) 10m (2) 12.5m (3) 25m (4) 50m

141 | A magnetic field line
(1) is the path along which a free north pole tend to move
(2) is the path along which a free iron particle tends to move
(3) is the path along which a magnetic needle tends to move
(4) is the path along which a line is traced

141 gt 39 Jur
(1) €9 H9ar I fan @ 575 §I99 €4t uge vm= Bt yfess ger §
(2)@3%3751%{#@5@3?338?&338388?1{1‘?33??%
(3)§Um%mém§wwmwt{f-ﬂa GEik)
(4) 8T wraar I fam @ &7 Jur fi'dt wrat 3 ,

142 | A body in uniform motion in one dimension moves from a position X, at time t, to another position X,
at time t,. Which of the statement is wrong for this motion?
(1) Actual distance covered in time t; to t; is magnitude of displacement
(2) The velocity calculated by making any choices for t; and t, always give the same result
(3) A larger value of the difference t2-t; will give a small value of velocity because velocity is obtained by
dividing t,-t;
(4) A larger value of X,- X, will give same value of velocity as a smaller value

142 fear for few feanrs a5t & fea fim LAt 3 X, Afaat & 1, mi* 3 few o nfaa X, ws woer 31 forr
ISt w3 fauar aus Ima O
(1) &, 3 AT t, 3T 3 St Twafen get femamus o ufares 3
(2)t1n@tzwéﬁ€€mem§uhmﬁwémaﬂmmuﬁvnmm&
(3)ty, tléﬁsaweﬂawy%,éar?mﬁwmaﬁwfaeﬁtz— eI IYUT e §
(4) Xo- xlvémug’s,my%eﬁ‘éarwmy%ma%am

143 | A 1000w heater is used every day for 90 minutes. This heater will consume units of electrical energy in
30 days
(1) 45 units (2) 90 units (3) 30 units (4) 60 units

143 1000wémawhmwwwmmalfmakasofa#favmgwéﬁ%
gfaet €t yuz Fdar:
(1) 45 wfse (2) 90 gfse (3) 30 ufse (4) 60 Gfse

144 | Iif the diameter of the earth becomes two times its present value and its mass remains unchanged,
then the weight of an object on the surface of the earth becomes
(1) one eighth (2) one fourth (3) half {4) remains same

144 ﬁﬁ{aaﬁmhmwfenémy%?éwﬁwiméfenvq‘%mmaﬁ?%,?
fyaet & 73T Que yeaw v g = Ater
(1) feg-—rizet (2) fex-gursh (3) nfTr (4) s FfFer §

145 | The direction of force acting on a current carrying conductor placed in magnetic field is determined by
(1) Right hand thumb rule (2) Cork screw rule
(3) Fleming’s right hand rule (4) Fleming’s left hand rule

145 Mhaﬁvﬁw—mmémmmwmmmmw&
(1) AR-TET igraT famr (2) 39 Afgg fsmns
(3) eBffiar & HA-Ta fsmt (4) TBf¥Rr T u&-gg fsmy
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146 | Which part of the eye is adjustable in accordance with the light conditions?
(1) Iris (2) Retina (3) Pupil (4) Lens
146 | yara St B3t mgHa wiy € faaaT rar niggsEtar fer &
(1) niy-yIwt €t f¥5 (2) My |r yger (3) iy €t y3B? (4) 8w
147 | There is no atmosphere on the moon because
(1) itis close to the earth (2) it revolves around the earth
(3) its acceleration due to gravity is low (4) its acceleration due to gravity is high
147 | ¥e Qus a¢t TGS &t ¥ fa@fa
(1) feg fys=t €333 (2) feg fuga® ewrd Ui 3
| (3) gz a9a few e a1t =9Us fows J (4) ggaT 5@ fen = ardt-=9us €9
148 | If the mass of both the bodies is reduced to half. The gravitational force between them becomes
(1) Double (2) Four times (3) One fourth (4) one-half
148 ﬁéﬁﬂ#éq@mﬁw&nﬁwwfe‘awa,?wwwmww&
(1) |-t (2) gE-Ft (3) feq-garet (4)niTr
149 | Which colour component of white light is deviated the most through a prism
(1) Red (2) Yellow (3) Blue (4) Violet
149 h%mwhawha%ﬁmwwiﬁmjv&
(1) 38 (2)vtsT (3) Bt®T (4) STt
150 | A body moving in a circle travels distance which is directly proportional to time. The body travels with
(1) Zero velocity (2) Constant speed (3) uniform velocity (4) constant acceleration
150 quhvwﬁmﬁhgﬂém&fma‘rfﬁ&ﬁéﬂém@feﬂalﬁ?mmwﬁw&
(1) HEW T (2) Afgg 23 (3) feamra <91 (4) nfga FSt-<9us
SOCIAL STUDIES / SOCIAL SCIENCES (BILINGUAL) - 60 QUESTIONS (91 — 150)
91 | When does history begin? .
(1) when human civilization begins (2) when human memory begins
(3) when written sources become available (4) all of these
91 |fefsgmadggderd:
(1) 7&° W5t Hfgnar e mrgg gev J (2) 7 WEHt fniadt ermdg Jer 3
(3) A¢ feydt fz QusaT §© 05 ' (4) Qudaz Ara It
92 | In terms of history which is the proper chronological order
(1) Paleolithic, Megalithic, Microlithic, Neolithic (2) Neolithic, Megalithic, paleolithic, Microlithic
(3) Paleolithic, Neolithic, Microlithic, Megalithic (4) Microlithic, Nealithic, Megalithic, Paleolithic
92 mewmmmmma: :
(1) yI-U'eq, HoT-U'5d, FuH-U'eEe, 59-Vae  (2) FE-YET , HT-U'ET, YI-UEd, FH-uEd
(3) yar-¥'Ed, s2-UET , FH-UEq, WOT-UTEd  (4) FUH-UEd, 5¥-UET, HO-YET, UIT-uEd
93 | Where rice was first domesticated?
(1) Antarctica (2) South Asia (3) America (4) Europe
93 | grem ot auz ufost fad it ot :
(1) YHergafear (2) Syt EHT (3) mdtar (4)ygey
94 | The second urbanization in India is supposed to have happened approximately in the 6" century BCE.
When did the first urbanization happen, approximately?
(1) 2500 BCE - (2) 1200 BCE (3) 1000 BCE (4) 900 BCE
94 | grga few gar Bfgdiaes sawar 6-41 Aeh BCE feg e iifswr wrer 3 | ufgeT afadiass sarser
Fa dfemr: v
(1) 2500 BCE (2) 1200 BCE (3) 1000 BCE {4) 900 BCE
95 | The first state systems in India were formed in which region
(1) Kaveri valley (2) Narmada valley (3) All of these (4) Ganga-Yamuna doab
95 | grag fae ufget I fawner faod yow faw w2et aret :
(1) =t wet (2) Sover wrdt (3) Quaas wa It (4) I3 WHET SvrET
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Ashoka’s dhamma was v
(1) A principle of good conduct (2) Anideology
(3) A set of ideas propagated by emperor Ashoka (4) All of these

96

Mﬂ?@"’ﬂﬁ)‘-ﬁ':
(1) 3 g9 fgig ' (2) fea fegragrar

97

(3R AHEe <8 yu'd feemar o i (4) Qudag 7y Gt
Who was Pliny? A

(1) A poet who wrote on the history of India

(2) A warrior King who settled in Afghanistan »

(3) A Roman scholar who mentioned India as a trading nation trading with the Roman empire
(4) All the above

97

ysTeal d= it :
(1) fex o<t fam & 993 & fefaam avs fafipnr

98

The empire of King Harsha was spread over
(1) The area from the southern sea to the northern mountains (2) The western sea to the eastern sea

(3) The Ganga Yamuna valley _ {4) Afghanistan to Assam

98

IHT JOF T AATH faE I #femr FHewr 1t ; |
(1) T4t Aeg 2 '3t uewst I © femmar (2) Ut AIR F yoit Araw 39
(3) 9 aHET WAt 3T (4) MBI ENITS T AN I

What was common to the following scholars from Ancient India: Apastamba, Baudhayana, Katyayana,
Manava, Panini, Pingala, Yajnavalkya

(1) They were astronomers (2) They were grammarians

(3) They were poets (4) They were mathematicians

Yrots 3793 @ I fod feverst few faot ofw Atst 1 -

100

(1) Q9 wIiB-feforaat v (2) ©9 fenraas-rAgd Fe 3)6TaftAs (4) QU afez-madt ns
The Slave Dynasty consisted of i

(1) A single family which had obtained its freedom from slavery

(2) A number of unrelated families whose founder was a slave soldier in service of the king

(3) The slaves of Indian ruler

{4) None of the above

100

o ¥ feg fifsa 3 :

(1) fEasT ufsera fan & ewar 3 pS9esT yrug &t 5t
(2)mwmuﬁawm?ﬁaaﬁﬁﬁ@mﬁwwmm
(3) 93 WRE @ I '

(4) BUIa g feF aet a4t

101

The Buland Darwaza was built to
(1) Celebrate the birth of the heir to the throne of Agra  (2) Commemorate the conquest of Gujarat
(3) Honour the Chishti saints (4} All of the above

101

g8« vderw faw @RS g=wfeonr fapr /t - :
(1) W31 & Uz & Tfen v 7oK fos ward= wet (2) gweg & fazg § varge wet
(3) fowst A3t & Aewrs Bet (4) QuTTZT A Tt

102

The name of the regent who reigned for Akbar was
(1) Humayun {2) Babur (3) Bayram Khan {4) Salim

102

Qwﬂﬁ‘ze*a‘r#mhn%maméma‘}ar:
1) g ~ (2)uEg (3) Han{ yt (4) B

103

The Gateway of India, the India Gate and the Teen Murti were built
(1) To welcome George V, to honour the war fatalities of the Indian army, fatalities in the First World War
respectively
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(2) To welcome the English King, to welcome the English Viceroy, to welcome the Prince of Wales respectively
(3) To honour the English Queen Victoria, to celebrate the victory in the First World War and to honour those
slain in the Second World War respectively

{4) none of these

103 mvm,mmm@mmmmmm&:
(1)a(mmVéww,mﬁ#WﬁumWﬁ?%mw,mmg’uﬁmw
Nt sEt _
(2)@@%8@%%%8&%&??&%&%%8&%@%3@#3%%8&
<3)Wmmwﬁ%mw,mm§mﬁﬁf#a§ &9 9 w3 €5F @ RoH'S
we friad o fene du few w3 I® A5

(4) Quigs feg agt & &It

104 | The strength of the Mughal imperial system layin

(1) Its harsh laws (2) The mansabdari system
(3) Its ability to be paternalistic {4) The cooperation extended to it by other Indian rulers
104 | yares ATt yia €t wagst faw feg At :
(1) fer e BT TGS (2) veREETdt y§a ‘ .
(S)ﬁsﬁ?ﬁﬁiﬂfeﬁém (4)@H§§ﬁmmaﬁ‘ﬁﬁfﬁhﬁm
105 | The Singh Sabha movement was broadly begun in the
(1) eighteenth century (2) twentieth century
(3) nineteenth century (4) twenty first century
105 | féwr wa fge e 9 3 a< gy J&t:
(1) 18 = mel (2) 20 =t met (3) 19 =t At © (@) 21 =t Ret

106 | identify the correct time sequence for the following:
(1) Guru Har Krishan, Guru Har Rai, Guru Har Gobind  (2) Guru Angad, Guru Har Gobind, Guru Amar Das

(3) Guru Nanak, Guru Angad, Guru Har Gobind (4) all of these

106 | 35 fafint @ Y Met-gH <t UBTE F&:
(1) Tg Jefes, IF I8 afe, Jg Taditee (2) g WETE, JF JIIGE , TI HIHEH
(3)a_r§m,a;|;a7ﬁm€,§raaa€rﬁ€ (4) Qudas Aa It

107 | What is common to Fakir Azizuddin, Diwan Moti Ram and Claude Auguste Court
(1) They were astronomers of considerable reputation

(2) They were employed by Maharaja Ranjit Singh

(3) They were soldiers of fortune

(4) All of these

107 mmﬁz,mww»@mmmmama:
(1) @7 feim et =3 wais-fefarnal As (2) @7 wararFT g3 fiw € I RS
(3) Qo g < Mudt RS (4) QuIara A9 It

108 | When the government was faced with customs that were different to the laws that it enacted it
allowed them to exist under the name of ‘customary jaw’. Custom here was defined as

(1) Something that had been practiced since ‘time immemorial’

(2) A practice on which there was social unanimity

(3) A belief that was backed by the khaps

(4) A practice that was part of the history of the people

108 ﬁm&ﬁﬂ?mmwmfmﬁw@wﬁs?ﬁwm,?fw%m#m
Tge @ &t @ Wggers afee fEar | feir yar & fa@* ufserfas dftar fapar #t
(1)fmaf8efagam+ufaw-5*nm€a’taffamr% (2) mfrgr fe=ars fAR Qua AHTHA AT Y
(3)mﬁwfaaawfmr€*munﬁaﬁ*a13ffawm (4)nfhwfeewhw§a+%f€f3mﬂefﬁwrﬂ

109 | The revolt of 1857 was also called the sepoy mutiny and the first war of independence. What was the
importance of these different names for the same set of events? )

(1) To identify the main actors in these events

(2) To measure the degree of anticolonialism in the Indian people

(3) To understand the different outcomes that resulted.

L (4) An act of self-publicity on the part of those who gave these names J
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109

1857@&@%5%3&%»@@?@@%%#@5 | fed fams St
wesTet @ AYyT et feqt fefds sret e ot wa'sw At :

(1) fegt weasT=t feg Wy-wger & farraagt gasr

(2) 393t Ba feu ardtere-feau &t wzer o7 fomrg sar@=r

(3) fem 3 oo fefs fafeut § mis=t

(4) Ft foradbrt =8 n2-yuwe ot aoewt fagt & feg &t i

110

Who took charge as Prime Minister at the death of Jawaharlal Nehru?
(1) Gulzarilal Nanda (2) Morarji Desai (3) Lal Bahadur Shastri (4) Indira Gandhi

110

AeY9 &5 sfog € fieg fu@ yara riadt d= afenr -
(1) IBAE B& &CT  (2) HIrIrt envet (3) 3% gI'Td BRI (4) féear arat

111

The science that deals with the study of the Earth and its lands, features, inhabitants, and phenomena
is called
(1) Paleontology (2) Geography (3) Biology (4) Sociology

111

€q fefamrs frger fugeht 2 few ot 313, sEet, Tt w3 wa33 S mifons =7 A&fag J
(1) yggr= -fefaprs (2) g9im-Amae (3) Fr=-feforrs (4) Avrer fefamrs

112

The third planet in the solar system is also called
{1) Venus (2) Mars (3) Earth {4) Neptune

112

For-We® feu 317 aifv § 39 ot nifur e 3
(1) gag (2) ¥OT® (3) gt (4) TgE

113

The earth has an axial tilt of 23.4°. This means that

(1) The earth wobbles around its axis

(2) The earth has varied weather during the year

(3) The hemispheres of earth are exposed to the sun for different times during the year
(4) The earth is a sphere

113

gt e wad gamr 23 .4 fearet 3 1 few e waBw 3 fa -
(1) fiEe? mu@ wiaw end sanErget (2) fym=h e s feg fefds imr ger &
(3) fum=h @ Ivon A8 feg Su-2y it B9 Few #id yae 39 O (4) fyg<t T &

114

The greatest impact on the environment of earth has been from

114

(1) Atomic blasts {2) Human activity {3) Chemical poliution {4) Solar radiation
fya=t @ ufonrees Que Fe F &' yae faw ufn€ faav 3 - '
(1) yon'e fende (2) Wg 4t arstfext (3) Ifesa ygue (4) gowt fefaes

115

Controlling air pollution is important to ensure that
(1) Crops do not suffer (2) Industries get a proper supply of air
(3) we have clean air to breathe (4) Animal population does not go down

115

TY YgES § 435 95T fev walal ver@e wet wa'gwyes 3 fa
(1) ZASt &7 FaA'S 57 3= (2) @etar § =g <t 8fe nusTet e
(3) A8 3% AT B Bt AR g = (4) ug After we 5732

116

Recently there has been much controversy over the condition of glaciers in India. The fear is that
glaciers are
(1) Advancing (2) Deepening (3) Retreating (4) Thickening

116

T 9t feu 993 feu T8uwet & nenar 3 Tt sro-feee fagr 3 | 37 feg 3 fa a8 ig 05 :
(1) =T 37 (2) arfad § 39 (3)We §T (4)Fg® T &

117

The Ranjit Sagar dam is located near the village
(1) Naldhera (2) Thein (3) Nathpa (4) Jhakri

117

AT A 3 fauld e S 33 nfas 3 :
(1) Zr&33r (2) &8 (3) sTayr ) (4) Fradt

118

The highest earth filled dam in India is

‘| (1) Ranjit Sagar (2) Bhakra (3) Tehri (4) Hirakud

118

a3 few Qoo iA-yfag 3w § :
(1) 9=+ AET (2)gugT (3) 2937 (4) TEs
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Which of the following factors are responsible for the rapid growth of sugar production in south India

119
as compared to north India? .
I. Higher per acre field of sugarcane I1. Higher sucrose content of sugarcane
Ill. Lower labour cost IV. Longer crushing period
(1) tand il (2)1, 1 and IV (3)1, M and IV (4)1, 1 and I
119 mmamme%ammwgamawwwmwmma
1. % €t It faz Q939 Qud I, UT=s e 97 AHf
. fans3e Hagdt a8 Iv. dr& &t €930 i3 Wadr
S IRCEAl )1, 11mM3 IV (34, N3 WV (@)1, 13
120 | India is a large country. It covers how much area of the earth?
(1) 1.4% (2) 4.4% (3) 3.4% (4) 2.4%
120 | grgg wgg BT ORI | few @ vigears fyest o fdar agg mr@er ¢
(1) 1.4% (2) 4.4% (3) 3.4% : (4)2.4%
121 | The Radcliffe line forms the boundary between
(1) India and Pakistan (2} India and China (3) India and Myanmar ___ (4) India and Afghanistan
121 | eafss 3ur fagt fegara i faufeg et 3 -
(V) FFIMIUTaRgs () M3 d@s (3) T9I S HATAT (4) 3783 M3 MBAMTERIS
122 | After which Census was it discovered that the population of India is growing at a rapid rate
(1) 1921 (2) 1931 (3) 1951 (4) 1901
122 mm?mﬁawﬁmﬂfamam%amwmﬁz
(1) 1921 (2) 1931 ' (3) 1951 (4) 1901
123 | Saffron is produced in India in
(1) Assam . {2) Bengal (3) Gujarat (4) Jammu and Kashmir
123 | grag feg ang ©r @aures fad dev d :
(1) mAH (2) far® (3) IS (4) ¥ w3 It
124 | From the Mansarovar Lake region come the following rivers of India
(1) Brahmaputra, Sutlej and Yamuna (2) Brahmaputra, Indus and Sutlej ’
(3) Indus, Jhelum and Sutlej (4) Jhelum, Sutlej and Yamuna
124 | yrzniwe s you 3 faud efonr fease 05
(1) IHY'ST, ASBH M GHET (2) SOWY'FT, g W3 A
(3) fira, A98H M3 ASBH (4) FUBH, ASBA M3 AHST
125 | Which of the following occupies the largest cultivated area in India
(1) Barley and maize (2) Jowar and bajra (3) Wheat (4) Rice
125 | gra3 few /g 3 937 IHI BT 439 fan @ wdis 3 :
(1) 7 W3 Hat Q)EMam3 gHT  (3)FSH (4)TTH
126 | The current Lok Sabha is the
(1) Thirteenth Lok Sabha _ (2) Fifteenth Lok Sabha
(3) Fourteenth Lok Sabha (4) Sixteenth Lok Sabha
126 | iger Bq ATT T :
(1) 3g<T B A" (2)Uegst SgAgT  (3) S BI FIT (4) iz 8o AT
127 | The Fundamental Rights in India are designed to
(1) Ensure rights of human beings ‘
(2) ensure that all Indians can lead their lives in peace and harmony as citizens of India
(3) protect liberty
(4) protect freedom
127 mhwmmwmﬁa@m:

(1) WY & mifaaret § walat see set
(2)mmw@€wﬁwmmimﬁmma@»@fwﬁwwmm
<

(3) mrrrat &t g BEY

(4) A3 39T <t pefprr 3@t
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128 | The right to property is j
(1) All of these (2) A fundamental right (3) Acitizen’s right (4) Alegal right
128 | fysht e wifqare & : ,
(1) feg mra Tt (2) y& ifaarg (3) srarfeq & wfgarg (4) IE mfaarg
129 | A JPC, in the context of the Indian parliament stands for :
(1) Joint Parliament Consul (2) Just Parliament Consulting
(3) Joint Parliamentary Committee {4) Joint Parliament Consulting
129 ot e @ et few IPC e ya gu ot 3 -
(1) Joint Parliament Consulting (2) Just Parfiament Consulting
(3) Joint Parliamentary Committee (4) Joint Parliament Consulting
130 | Article 370 of the Constitution concerns the state of
(1) Himachal Pradesh (2) Jharkhand (3) Jammu and Kashmir {4) Tamilnadu
130 ffers e »ig@e 370 faud o 5% Aifaz 3 -
(1) fores y@w (2) gotE B) Ay mI Il (4) hwsTs
131 | Lok Adalat is
' (1) All of these
(2) A court to settle disputes through compromise or settlements
(3) A court designed to shorten the time taken for settling disputes
(4) A court run by the people
131 | B mersg 3 :
(1) 73 578 §ug
(2)m#mwmwymmmmm '
<3>W@mwwm§w@emmmm
(4) B T8 wovel Aiet sy
132 | The division of the people of India into linguistic provinces was based on the principle that
(1) Providing administration to people in their own language is a good in itself
(2) All of these )
(3) Using local languages makes for easier administration
(4) Language is an important bond which unites people and creates an identity for them
132 méwamﬁaffa?é?fanm&mmh:
(1)8a+§9§fémymfe€mé€wéwwu€wfﬁréw€m%
(2) feT wra ot :
(3) rarfad gret &t 293 yaws § Hur 5@t 3
(4)ww%e§m€35hwiw§ﬁaw3»r§§§+wmw€?%
133 | Making a living is
(1) A right given to us by the government (2) A divine right
(3) A right given to us by the courts (4) A fundamental right
133 | 3Et e
(1) A3 2§ A fa'gr mifgarg 3 (2) @<t mifaaa
(3) meEs3t = 1y fegr sifgaa (4) H® wifaarg &
134 | All revenues received by Government by way of taxation like income-tax, central excise, custom, land
revenue (tax revenues) etc. form the
(1) Government of India {2) Contingency Fund of India
(3) Consolidated Fund of India (4) All these
134 mwh%»mmw,m,gan,wmwﬁégufavmzi‘mmm
gerget I ' :
(1) 3793 AIT"T (2) 93 T wranfiasT & ) erAfegds 1) Quiaa ATt
135 | The parliamentary system in India is based on the principle of '
(1) First Past the Post (2) Proportional Representation

(3) Majorityvote (4) Popular democracy
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mamwmmwma:

135

(1) sgfaresh et & 9 Y3t (2) mayuTaa yfsfsuar

(3) safaresdt << (4) Bfipr BaIFT
136 | Prasar Bharti is

(1) The Public Service Broadcaster of India (2) An NGO

(3) ATV organisation (4) A radio organisation
136 | ygg Iast 3 : :

(1) 9793 € BF A< YA'ES W€ (3) & & WG5S (4) IG HBS
137 | Feminism refers to

(1) The ideology that women should be treated at par  (2) The ideology that women should rule

(3) The ideology that men should ruie . (4) That women should be given more opportunities than men
137 | sratere fan ¥@ AT q9eT 3 ?

(1) fe fegrouer f #igat § wo9a AHSET gater I

(2) feg fegreurar fa negt § WHS FaaT gdter I

(3) feg fesrauwar fa yaut § ARG FaaT grdteT 3

(4)fezrf-e'awfargaa+xrﬁ‘e=un@namaa% I I&
138 | The Chief Justice of India is appointed by

(1) The Prime Minister of India (2) The parliament of India

(3) The President of India (4) The Lok Sabha
138 | grag 3 @iz wnfen & fsgadt dT a9er 3 :

(1) 3793 & YU HIdt (2) 9793 € e (3) FTag uF IHSIUST (4) 8 AT
139 | The Supreme Commander of the military in India is

(1) The President (2) The Prime Minister

(3) The Home Minister (4) The Defence Minister
139 g793 feu RaT e puaH e 3 ¢

(1) RIS (2) yus w3dt (3) ayfe Hadt (4) Iy HZt
140 | The Protection of Civil Rights Act was designed to

(1) Protect the civil rights of individuals  (2) Prescribe punishment for the practice of Untouchability

(3) Protect the civil rights of social groups (4) Protect the civil rights of citizens
140 mrfa‘amfuam*e?g’afwrnrfnﬁmnfanaméfawaﬁ?famrm:

(1) forardint & srarfea miftarar § faafes seaT '(2)§»f'§3€rfem8awfmf€3aaﬁ

(3)mmmm+€mrfaamfuwa+égaﬁwaa?ﬁ (a) srarfaar & afex migardt <1 ge fnir Ioat
141 | Social Sciences study ‘

(1) Societies (2) Indivduals (3) Governments (4) Philsophies
141 | myA-fefamrs wfoRs a9€ 36 -

(1) AT &7 (2) foaat & (3) AETa" T (4) SIHS-HHIT
142 | “Where the mind is without fear” were lines by

(1) Mahatma Gandhi (2) Swami Vivekananda

(3) Gurudev Rabindranath Tagore (4) Sardar Bhagat Singh
142 | feq Raa faw bt T5 : “where the mind is without fear”

(1) W3 aridt (2) it fedade (3) grge< Ified 579 &9 (4) rgerd g3 frwr
143 | Part of the complexity in teaching social sciences lies in the fact that their subject is

(1) Ever changing (2) Very complex (3) Non-existent (4) Localised
143 mﬁhﬁémﬁmfevﬁanﬁwﬁms’sfaaéfa%wfzwa :

(1) er ufgeagsHs (2) mfz Afes (3) MAf3 Ie-dIT (4) raaiga
144 | €ducation of a child takes place

(1) at all three, home, school and society (2) in school (3) in society (4) at home
144 | g3 <t fafpu fad 3t 3

(1) wa, i w3 mi st feg () Ags fee (3) i fem (4)ug few
145 | A teacher has to be adapt at :

(1) Acting (2) Learning (3) Communication (4) Playing multiple roles
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145 | mifewrym § fam @ M J=r ordter 3 ~
(1) mfg& @ (2) fafeprr -yt & (3)Agg & (4) Sgudt ghiaret fsg@s &
146 | The difference between a primary and secondary source is that
(1) A primary source is primary while a secondary source is secondary
(2) A secondary source is closest to the person, information, period, or idea being studied
(3) A primary source is closest to the person, information, period, or idea being studied
(4) All of these
146 | yrafia w3 A= {7 few #w3q feg 3 fx -
(1) e 53 yrafia 3 w3 die gz dis
(2) die {3 wfeis d13 7 a8 ferast, guar, avs At fearg e fagean ger &
(3) yafva {3 mifeis 13 7T 3T femast, gusT, s At fegrg e fsaean e d
(4) feg Arg Gt
147 | Project work is important because
(1) It enables students to be creative (2) It creates some work for students
(3) Learning by doing is more lasting learning (4) It enables teachers to be creative
147 | Gitae e & wa'g=yes 3 fa@ fx -
(1) few fefenraent § usravea ves & Gorga@or ¥ (2) fea fefenradtut set aw v e ager 5
(3) 3 J9 & fiveT =43 redt fafipr-yrust 3 (4) fea mfowyat § susovm 925 @ Garge@er 3
148 | Class room teaching should be
(1) Intense (2) One sided (3) Interactive (4) Easy
148 | a@HGH mfowrys 3R :
(1) Stag (2)fea-ymz (3) yanug faprmana (4) "ATS
149 | DPI is the acronym for '
(1) Director of Prosecution and Intelligence  (2) Department of Personnel and Investigations
(3) Director Private instruction {4) Director Public Instruction
149 | ot faw e yaW-#udt gu 3 :
(1) Director of Prosecution and Intelligence (2) Department of Personnel and Investigations
(3) Director Private Instruction (4) Director Public Instruction
150 | Teaching techniques in the social sciences could involve
(1) Role Playing (2) All of these (3) Projects (4) Lectures
150 | mrr-fefomrs few wfowrus saatat feg wis agar ardter 3 -

W gharfsg@er ) Quias mav @t (3) Gnae (4) Bawa
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